IRILF—HEMRER LA EORE

BEEREFORMMNEEESHEZRTTSEE

1. [EE] MHaeE# (BEfT: )
X7 iR Pl

—FETOE=E (EHEREFREL) 4,700 4,700

FREfE < 300 m 9,300 9,300

R R () 300 M = FKEHE < 2000 m 20,000 20,000

DR O 2000 M = FKEE < 5000 m 45,000 45,000

5000 m = [KEHE 80,000 80,000

XERHMAOOEBTEFEBICEHS

2. [BEE=E] ETILEME ZEANEZTOMOFELRE o)
BARX S iR Pl

RE#E < 300 m 9,300 9,300

300 m = KEFE < 1000 m 16,000 16,000

1000 i = [RE#E < 2000 m 27,000 27,000

EE=E 2000 m = F@EE < 5000 m 80,000 80,000

5000 m = FRm@EHE < 10000 m 130,000 130,000

10000 m = FR@EFHE < 25000 m 160,000 160,000

25000 M = FKEK& 200,000 | 200,000

3. [REEREW] (EELFEE)
LR EEICRDHSLBEFEEICEDHSLBELH LTS,

(FHMBIZDUWTIE., BRERRFICHER T &)



IRILF—HEMRER LA EORE

BEERBAFORMMNBREESHEERILEWVNGS

1. [EE] taeEs (B4 )
BERARS EJps T rE
KEE < 200 m 34,000 19,000
—FERTOEE
200 M = FK@EME 38,000 21,000
KEE < 300 m 69,000 39,000
R () 300 m = KEE < 2000 m 110,000 67,000
DIEF OER7 2000 M < PREME < 5000 m | 200000 | 120,000
5000 m = [KE#E 280,000 180,000
XERMLOEBIXEFEEICEDHS
2. [3EE=E] EFILEWEICLLGE (B4 1)
BRAXS IR rE
REfE < 300 m 87,000 48,000
30 M = KEHE < 1000 m 110,000 63,000
1000 M = [KEHE < 2000 m 150,000 86,000
FEE=E 2000 m = FR@EE < 5000 m 240,000 160,000
5000 m = FR@EFE < 10000 m 310,000 220,000
10000 m = FREFE < 25000 m 370,000 260,000
25000 M = FREH& 430,000 320,000
3. [EEE] BEANZZDOMFEICLSEE (B )
BERARXS R EE
FREFE < 300 m | 230,000 120,000
300 m = KEFE < 100 m 280,000 150,000
1000 m = KEE < 2000 m 370,000 200,000
FEEE 2000 m = [FK@HE < 5000 m 520,000 300,000
5000 m = [FREF#E < 10000 m 640,000 390,000
10000 m = FREFE < 25000 m 760,000 [ 460,000
25000 M = FKKEE 870,000 | 530,000
4. [BEEEY] (EELFEEE)

LR EEICEDIEELFTEICEDIRELT A L= LTS,

(GEMICDULNTIE., FREERSICHERRT 52 L,)





